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Note : Attempt questions from each section as directed.

SECTION-A

Answer any two questions from this section : 2x10=20

1. Explain the two methods (Hicks and Siutsky) of
isolating the substitution effect from the income
effect of a price change.

2.  What is the distinction between Gross Domestic
Product and Gross National Product? List the
steps you would like to follow in arriving at
disposable personal income when Gross domestic
product is known.

3.  Why do countries trade with one another? Using
a specific theory of comparative cost advantage
analyse the gains from trade.

EEC-09 1 P.T.O.



4.  What are the essential differences between the
Classical and the ‘Keynesian’ theories of income
determination ? Which of these theories do you
think is more applicable to less developed
countries ?
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Answer any three questions from this section :

5.
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SECTION - B

Define Kalecki’s degree of monopoly. How is it
related to the elasticity of demand for the product?

Distinguish between Harrod’s warranted rate of
growth (of output) and natural rate of growth. If
the actual rate of growth diverges from warranted
rate of growth, what happens to the economy ?
Discuss your answer.

From the following data, calculate private income,

personal income and personal disposable income.

(i) NDP at factor cost = Rs. 45,000 crore.

(i) Income from entrepreneurship and
property accruing to government and
administrative departments = Rs. 5,000

crore.

(i) Savings form non-departmental enterprises
= Rs. 2500 crore.

(iv) Current transfers from the government
= Rs,800 crore.

(v) Interest on National debt = Rs. 500 crore.

(vi) Net factor income from abroad = (—) Rs.
400 crore.

(vii) Undistributed profits = Rs. 700 crore.

(viii) Personal income taxes = Rs. 300 crore.

Show how Laspeyre’s and Paasche’s indicies can
be used to compare welfare changes for a
consumer in situations where prices are changing.

Give arguments for and against a system of
flexible exchange rate.

3x6=18



SECTION - C
Answer all the questions from this section. _ 2x6=12

10.  Write short notes on any two of the following:
(i) Opportunity cost.
(ii) Rostow’s stages of growth.
(ii) Aggregate consumption function.

11. Differentiate between (any two)
(i) Biased and neutral technical progress.
(ii) Stable and unstable equilibrium.

(ii) Returns to a variable input and returns to
scale.

EEC-09 4



23409

e ST ShTeshd
AT e
feweaR, 2010
tfow ugasn : iy ‘
$37t-09 : Ui/ nfie sauruTd we it
T ; 2 g0 |  SIfirFan SF : 50

(FeT T 70%) .

T :  JAF G @ FRAFIR F97 F IW A& |

©us - <h

@ @ve A fardl qf vl % W i 2x10=20
1. QI (R R T &) e Hw
% g (Redt axg Ft) Fa Ifedd & S
U ) NG TS A ST fomar S wehar R

2. e S SR U S H R Siat Bt 12 WA
A W el W] SR N Ao T 3 JE
FA F fore St w1 FE AT E 376 Heiy H wagg a
I favdmm i

EEC-09 5 P.T.O.



3. PR FTraRAFIE? goes
o % T fafire fagia &1 7@ = g =R @
B a1 asil o fergdienr sifera

4. I % Fruiw F Fenfaet ik SEr) fogid § T
A SR B?  oMUF HaguR R sreufaemiag
Srdfegereen % faw 3 | 39 o fagia eifus soanh
m?

EEC-09 6



|ue - @
9 @vE | fapT di T ¥ S ) 3x6=18
5. FATH! HI ' THMUFER FT A" (degree of
monopoly) FI IRIfYd FifT1 e & fag G
FI ST % Y TR T Gy §?

6. oS W viw W R (I Fit) IR wnfaw

Hafe S H oI wary | af arafas dafe R, anie

- dafg A fm At A sroferaeen § s dm? ==
Edis

7. frafafae fed & R w et o, Safwes

3 iR Jafems TR ST St AT ST

() wy7 @ W fEa W SR
(NDP)= 45,000 F0g

(i) TR F IEHE fEri $ sem ok gufa @
TS 3= 5,000 FAS

(i) IR fria el i 999 = 2,500 WS

(iv) TR ¥ R FAR0 = 800 IS

(v) T H0 R A = 500 FAS

(vi) Toell @ Frae $rF 3@ = (- 400) TS

(vii) sTfyafa @ = 700 Flg

(viii) SAFRRTT 3 X = 300 FAS

8. feany f& Fivdl § SR-wgw = faufedl @ feht
I9sliT 3 Hem 3 Y A iR T yeenin
= WA FY foman ST g €2

9. writen fafrra-<t yonel 3 et iR fauey ¥ a1 <o
< S et ®2

EEC-09 7 - P.T.O.



@Ug - T
W G F Tid T9 Fl S i) 2x6=12
10. fr=fefaa & @ fae g W feoht wifaa)
(i) SR AT
(i) UL w1 FIfE-TRI
(i) THE ST B |

11. ffafes e gt ¥ o e ifvm
() YOS T W TS qeR awaT )
(i) feR T rfeer Hgem
(i) IRe M F IR T M & e

EEC-09 8



